
SCAN QR CODE
FOR ASSEMBLY VIDEO

28"18"

FOLDING MITER SAW STAND



37-1/4"

12"

24-13/16"

25°

A

B

25°

13/16"

1-1/4"

1-5/8"

1-5/8"

13/16"

1-1/4"

13/16"

Parts T W L Matl. Qty.

A leg 3/4" 1-5/8" 37-1/4" DL 4

B top support 3/4" 1-5/8" 12" DL 4

C top 3/4" 9" 28" PW 2

D inside stretcher 3/4" 5" 22-7/8" PW 1

E outside stretcher 3/4" 5" 24-1/2" PW 1

Material key: DL-dimensional lumber; PW-plywood

9" 9"

5"5"

28"

22-7/8"

8"8"

24-1/2"
33-3/4"

FRONT RIGHT SIDE BACK

33-3/4"

28"
C CC C

D ED E

A A

B
6"

1FOLDING MITER SAW STAND



1/4" through hole

Hardware Qty.

F 1/4"-20 x 2" hex bolt 2

G 1/4" flat washer 8

H 1/4" x 1-1/4" fender washer 6

I 1/4"-20 nylon insert lock nut 6

J 1/4"-20 x 2" connector bolt 4

A

A

B

B

F

G

G

H

I

IG

H

HGI

J

J

1/4" through hole

1/4" through hole with
3/4" counter bore

1/4" through hole

B A A B

*Plywood stretchers and top pieces attached with 1-1/2" 
screws

FOLDED LEG ASSEMBLY

LEG ASSEMBLY

2FOLDING MITER SAW STAND



A

A
A

A

B

B

B
B

C

C

D

E

EXPLODED VIEW

3FOLDING MITER SAW STAND


